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1	Introduction
This contribution presents A-MPR concept for CA_n7B.
2	Simulation scenario and assumptions
Additional spurious emission limits for UE co-existence are considered according to [1], as shown in Table 1.
Table 1: Additional spurious emissions for UE co-existence (CA_n7B)
	Frequency range
(MHz)
	Spectrum emission limit (dBm)
	Measurement bandwidth 

	2570 MHz – 2575 MHz
	+1.6
	5 MHz

	2575 MHz – 2595 MHz
	-15.5
	5 MHz

	2595 MHz – 2620 MHz
	-40
	1 MHz



Simulation assumptions were as follows
IQ-Image and LO leakage = 28 dBc
CIM3 = 60 dBc
PA calibration point was 20 MHz, 15 kHz, QPSK, DFT-S-OFMA, 100 RB at lower channel edge with 0.5 dB MPR
No IBE or EVM was simulated
Comprehensive simulation results were presented in [2].
3	A-MPR for Contiguous Allocations
For contiguous allocations four separate regions are defined. Right hand region and bottom left corner are high A-MPR regions (A-MPR = 9 dB). Bottom middle region has A-MPR = 0 dB. The remaining top middle region has intermediate A-MPR = 4 dB. The regions are illustrated in Figure 1.
In addition, three different scenarios are separated based on the combined bandwidth of the CA combination and the position of the channel inside the band.
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Figure 1. A-MPR regions for contiguous allocations, with 20+30 MHz CA, QPSK and OFDMA and channel position at the top edge of n7 shown as example.

[bookmark: _Hlk54282565]For all modulations and scs when BWChannel_CA > 25 MHz and Fedge,high = 2570 MHz
IF			RBEnd > NRB_agg 5/6 OR
     						LCRB > NRB_agg - LCRB + NRB_agg /3
OR
     						RBEnd < NRB_agg /6 AND LCRB < 5
			THEN A-MPR = 9 dB,

ELSE IF	LCRB 2/3 < RBend < NRB_agg 5/6 AND LCRB < NRB_agg /4
			THEN A-MPR = 0 dB,

OTHERWISE A-MPR = 4 dB.

When BWChannel_CA <= 25 MHz and Fedge,high = 2570 MHz
IF 			LCRB > NRB_agg - LCRB + NRB_agg /2
THEN AMPR = 6 dB.
			
OTHERWISE A-MPR = 0 dB.

When Fedge_high <= 2570 MHz - BWChannel_CA, A-MPR = 0 dB.
4	A-MPR for Non-contiguous Allocations
Four non-contiguous allocations four different scenarios are separated based on the combined bandwidth of the CA combination and the position of the channel inside the band. A-MPR for these scenarios is shown in Figures 2 – 5.
[bookmark: _Hlk54282729]When BWChannel_CA > 25 MHz and Fedge_high = 2570 MHz,
A-MPR =
[bookmark: _Hlk54282745]18 - 6e-06 B;      			0 <= B <= 5e+05
15.9 - 1.75e-06 B; 	5e+05 < B <= 4.5e+06
[image: ]
Figure 2. A-MPR regions for non-contiguous allocations when BWChannel_CA > 25 MHz and Fedge_high = 2570 MHz

[bookmark: _Hlk54282790]When BWChannel_CA <= 25 MHz and Fedge_high = 2570 MHz,
A-MPR = 
[bookmark: _Hlk54282865]11;               				0 <= B <= 1e+06
11.4 - 3.85e-07 B; 	1e+06 < B <= 7.5e+06
9.14 - 8.57e-08 B;  7.5e+06 < B <= 2.5e+07
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Figure 3. A-MPR for non-contiguous allocations when BWChannel_CA <= 25 MHz and Fedge_high = 2570 MHz
[bookmark: _Hlk54282973]
When Fedge_high <= 2570 MHz - BWChannel_CA and 25 MHz < BWChannel_CA <= 35 MHz,
A-MPR =
11;               				0 <= A <= 2e+06
12.2 - 5.77e-07 A; 	2e+06 < A <= 1.5e+07
3.5;               			1.5e+07 < A <= 3.5e+07
[image: ]
Figure 4. A-MPR for non-contiguous allocations when Fedge_high <= 2570 MHz - BWChannel_CA and 25 MHz < BWChannel_CA <= 35 MHz
[bookmark: _Hlk54282960]When Fedge_high <= 2570 MHz - BWChannel_CA and BWChannel_CA <= 25 MHz,
[bookmark: _Hlk54284423]7.5;              				0 <= A <= 1e+06
7.89 - 3.89e-07 A; 	1e+06 < A <= 1e+07
4.67 - 6.67e-08 A; 	1e+07 < A <= 2.5e+07
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Figure 5. A-MPR for non-contiguous allocations when Fedge_high <= 2570 MHz - BWChannel_CA and BWChannel_CA <= 25 MHz


5	Conclusion
We presented A-MPR concept for CA_n7B contiguous and non-contiguous allocations.
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